
Formulas for Math 1320 Exam 1 

Equation of a linear function: 𝑦 = 𝑚𝑥 + 𝑏 or 𝑓(𝑥) = 𝑚𝑥 + 𝑏, where 𝑚 =
𝑦2−𝑦1

𝑥2−𝑥1
.  

Cost function: 𝐶(𝑥) = 𝑚𝑥 + 𝑏, where 𝑚 is the marginal cost and 𝑏 is the fixed cost, and      

𝑚 =
𝐶2−𝐶1

𝑥2−𝑥1
.  

Revenue: 𝑅(𝑥) = 𝑚𝑥, where 𝑚 is the marginal revenue. Also, 𝑅 = (price) × (quantity). 

Profit: 𝑃(𝑥) = 𝑅(𝑥) − 𝐶(𝑥).  

Supply and demand: Both have the form 𝑞 = 𝑚𝑝 + 𝑏. For demand, 𝑚 < 0; for supply 𝑚 > 0. 

In both cases, 𝑚 =
𝑞2−𝑞1

𝑝2−𝑝1
.  

Parabolas: Functions have the form 𝑓(𝑥) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐.  

 Vertex at the point (−
𝑏

2𝑎
, 𝑓 (

−𝑏

2𝑎
)).  

 𝑦-intercept at (0, 𝑐) 

 To find 𝑥-intercepts, solve 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 for 𝑥.  

Exponential Growth and Decay: Formulas are 𝑄(𝑡) = 𝑄0𝑒𝑘𝑡 (growth) and 𝑄(𝑡) = 𝑄0𝑒−𝑘𝑡 

(decay), where 𝑄0 is the quantity at time 𝑡 = 0. For growth, 𝑘 =
ln(2)

doubling time
 and for decay,    

𝑘 =
ln(2)

half-life
.  

Alternate form for exponential functions is 𝑦 = 𝐴𝑏𝑥. 


